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1. Where did this conversation take place?
A. At the hospital. B. At the airport. C. At the post office.
2. What is the woman?
A. A driver. B. A policewoman. C. A doctor.
3. How many universities are there in Britain?
A. Over forty. B. Less than forty. C. Zero.
4. Where is Peter probably now?
A. In Shanghai. B. In Hong Kong. C. In Beijing.
5. How long will it take to go to Paris by the fast train?
A. 70 minutes. B. 55 minutes. C. 50 minutes.
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6. What are the two speakers doing?
A. Visiting a place of interest. B. Checking a building. C. Painting the building.
7. What do you know about the woman?
A. She’s very glad. B. She’s very tired. C. She’s very old.
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8. What does the law forbid people to do?
A. To take dogs to parks. B. To walk dogs in the streets.
C. To treat dogs cruelly.
§ 9. What do we know from what the woman said?
A. Dogs should be kept at home. B. Building a dog park is necessary.

C. People would remove the dog waste.




. Which museum will they go 107
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A. The art museum, B. The children’s museum. C. The science museum.

. Who is Ken*

A. Henry's brother. B. The woman’ s husband. C. The woman’s father.

. How will they go to the museumn?

A. On fool. B. By bus, C. By car.
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. Who 1s John White?

A. A friend of the woman’ s. B. A visitor to the clinic.

C. A patient of Dr. Taylor’s.

. Why won’t Mr. White come 1o the clinic tomorrow?

A. The clime will be closed. B. He is not free.

C. Dr. Taylor won’ t come 10 work.

. When during the week is the clinic open?

A. From Monday o Friday. B. On weekdays except Thursday.

C. During the whole week.

. What time will Mr. White come?

A. 6:30 pm, Wednesday. B. 6:30 pm, Friday. C. 5:30 pm, Wednesday.

910 SRR e s 1T 520 %

. What' s the weather like in most areas of Tibet?

A. Very wet. B. Very dry. C. Very hot.

. What does “epidemic” probably mean in the passage?

A. A kind of food. B. A kind of animal. C. A kind of disease.

. How high is the peak of Himalaya Mountains?

A. Over 25,000 feet. B. Over 35,000 feet. C. Below 25,000 feet.

. What do the sportsmen want to see?

A. The window of the world.  B. The door of the world.

. The roof of the world.
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¢ 1. How much does one chair cost?

A % 5. B. % 4. C. $3.

2. What does the woman mean?
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A. She bought something for her uncle. B. She missed it.
C. She went to it on her way to the station.

3, What are the speakers talking about?

A. Weather forecast. B. Pollution. C. Transportation.
4. What do we know ahout Betty?
A. She has traveled world-wide. B. She is going to New York. I
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_ C. She likes postcards.
¥ 5. What are they doing?
A. Watching TV. B. Listening to the radio.
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C. Swimming across the channel. I
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: 6. Which of the following places has the woman visited?

A. Greenwich Village. B. Chinatown. C. Central Park.
s 7. When is the woman going to see a show on Broadway?

A. On her last night. B. Next weekend. C. Tomaorrow.
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8. Why did the man lalk to the woman?

A. He wanted to buy a house. B. He wanted to get a job.

C. He wanted to rent a flat.




A. Tt has a bathroom and cne bedroom. B. It has two bedrooms and a sitting room.
C. It has a kitchen but it hasn 't a bathroom.

. How much will the man pay for the biggest one each year?

A. 3,600 dollars. B. 2,400 dollars. . 3,000 dollars.
R A 6 A B VR B B SR

. Why does the boy dislike the rulers at first?
A. Because the patterns are not good. B. Because the colors are not good.
C. Because the cartoons are not good.
. What kinds of things do students of the boy’s age like?
A. Green pencils with cartoons on them. B. Black rulers with Snoopy on them.
C. Blue knives without Mickey on them.
. How much does the boy pay for the ruler?
A. Only 1 dollar. B. 1.5 dollars. C. Less than 1 dollar.
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. How did the man find the flat for the woman?
A. He found it by accident, B. He found it in the newspaper.
C. His flatmates moved out.
. How much per month do they have to pay?
A. $ 100. B. § 90. C. % 120.
. Which of the following is a right description of the flat?
A. Tt"s well kept. B. It”s near Lily’ s college.
C. It’ s in a noisy area.
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. Why was it a terrible journey?
A. The driver was frozen in the wind. B. The dogs became blind in the snow.
C. The snow was heavy and the wind was strong.
. How did the driver try to keep the dogs warm?
A. By building fires. B. By making them run.
€. By tying skins about them.
. Who are the main characters in the passage?
A. The drivers, B. The dogs. C. The medical workers.
. What is the story about?
A. A trip to save human lives. B. How to keep warm in Alaska.

C. The danger of an Alaska snow and wind.
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;3 1. How many days will the man's uncle stay with him?
A. About 3 or 4 days. B. About 4 or 5 days. C. About 6 or 7 days.

. What color does the man prefer?
A. Light blue. B. Yellow. C. Pink.
. Where did the conversation possibly take place?
A. In a bedroom. B. In a living room. C. In a hathroom.
. What is the man’s attitude towards his late arrival?
A. He is worried. B. He feels sorry. C. He doesn’1 care.
i 5. What does the woman mean?
A. She hadn’t had the time to do the experiment.
B. The experiment took a lot of time.
i C. The experiment didn’t take much time.
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6. Where is the woman now?
A. In First Street. B. In Main Street. C. At the bus stop.
7. How is the woman going to Burns Park?
A. By bus. B. By car. C. On foot.
2 8. Which picture describes the correct way to Burns Park?
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9. Where does the conversation take place most probably?

A. Tn a gift shop. B. In a flower shop. C. At a bank.

10. How many kinds of gifis did the man mention?
A. Three. B. Four. C. Five.

“11. Which hat does the woman like?

,; A. The blue one. B. The red one. C. The yellow one.
H GOSN FERHT i A 12 4
w‘ 12. What do you think the woman probably is?

A. A visitor. B. A secretary. C. A doctor.
. How many times has Mr. Johnson been to Shanghai?
A. Once. B. Twice. C. Three times.
. When does this talk happen?
A. In spring. B. In summer. C. In autumn.
TID IR G Rt S S O W
. Why are the two speakers discussing the apartment?
A. The woman wants to put an ad about it in the paper.
B. The man is considering buying it.
C. The man is considering renting il.
. What does the woman say about the two-bedroom apartment?
A. It"s too small for the man. B. 1t has plenty of light.
C. It doesn 't have many closets.
. What does the woman say about the parking?

A. Each car is given a parking space. B. It’s difficult to find a parking space.

C. Each owner has to pay in order to park.
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§ 18. Which is probably one of the least healthy cities in Britain?

Z A Brighton, B. Bristol. C. Glasgow.
; . How many cities were covered in the research?
A. 15. B. 19. C. 24,

. How can a city be healthy according to the passage?
3 A. By having the highest number of residents.

B. By having people eat health food and take exercise.

C. By having people walk or cycle to work every day.
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1. Why is the man going to Beijing?
A. To attend an important party. B. To do some important business.
C. To meet some important businessmen.
2. What language is spoken in the film?
A. Japanese. B. Chinese. C. English.
d 3. Which of the following is true?
A. The man didn’t like any ice cream.
B. The man wanted chocolate ice cream.
C. The man didn’t want any ice cream.
. How does the man feel about going to school by bike?
A. Happy. B. Tired. C. Worried.
® 5. What time will the speakers get to the station if they leave at once?
A. 8:55. B. 9:15. C. 8:45.
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B 6. How often does Linda go swimming?

A. Every day. B. Once a week. C. Twice a week.

B 7. What exercise does Linda like most of all?

I A. Running. B. Riding a bicycle. C. Swimming.

2 8. Where will they meet that night?

A. Outside the pool. B. Outside the park gate. C. Outside the garden.

ST Ui Al TR Y A 1
£ 0. Where does Lhe conversation probably take place?

A. In a shop. B. In a bank. C. In a factory.
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&4 10. How much will the woman pay?
: A. $59. B. $62. C. $65.
11. When will the woman probably come again?
4 A. Next Tuesday. B. Next Thursday. C. Next Saturday,
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12.

13.

14.

15.

18,

20.

What are the speakers talking about?

A. Their favorite teachers. B. Their homework.
C. The man’s problems in class.

Which one of the following is true?

A. Tom didn’t do his homework. B. Tom forgot his books.

-C. Tom was ten minutes late for class.

According to the woman, what should the man do if he wants to pass this class?

A. Go to class early. B. Talk to Ms. Smith. C. Be more serious.
T O S e FLE 1S 21T |

Why does the man h.u}-' a farm?

A. He lost his job in the factory. . B. He wants to live with a farmer.

C. He is tired of living in the city and factory.

. Why does the woman sell her farm?

A. Because the ground is unfit to grow wheat.
B. Because she has no modern farm machines.

C. Because farming is very hard work.

. Which of the following sentences is NOT true?

A. The woman has her own farm. B. The woman sold her farm at a high price.
C. The man has his own factory.

s TOEL TR i T IR €20

What is the topic of this passage?

A. China’s education. B. China’s history. C. China’ s developmen.

. How many school-age children have dropped out of schoot?

A. Over 2 million. B. Over 4 million. C. Over 12 million.
What is the biggest problem in helping the poor children?
A. Lacking love from society. B. Lacking money.

C. Parents’ ignorance.
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1. How often does the restaurant offer its dinner specials?

A. Twice a day. B. Twice a week. C. Once a week.
2. What does the woman mean?

A. She doesn’t understand the man. B. She gives the dollar to someone else,

C. She’s unable to help the man.
3. What are the two speakers talking about?

A. A reslaurant. B. A theatre. C. A store.
4. What is the man doing at the airport?

A. Answering a passenger’ s question. B. Leaving for New York City.

C. Waiting for his sister.
| 5. What’ s the relationship between the woman speaker and Tom' s mother?

A. Sisters. B. Neighbors. C. Mother and daughter,
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6. Where did the woman live hefore?

A. In Perth. B. In Sydney. C. In a small town.
7. What’ s the weather like there in summer?

A. It’ s nice but windy. B. 1t’ s nice but wet. C. It’ s windy and wet.

P T AR 9 A 8 £ 10 M

d 8. Where are lhe speakers talking?

A. At a bank. B. In the street. C. At a radio studio. ¥
® 9. What do we know about the woman? k]
A. She works al a bank. B. She likes her work very much, §

C. She is leaving for home soon.
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What do we know about the m‘;n? E

A. He may make some money from his commercial.
B. He needs some money to buy a tape cassetie.
C. He will arrive home in ten minutes.

PR DR 1T A3

. How does the man usually spend the evening?

A. He usually studies, B. He usually does some washing.
C. He usually sleeps.

What does the man do?

A. He is a worker. B. He is a boss. C. He is a student.
What does the man usually do at weekends?

A. Go swimming. B. Go fishing, C. Go shopping.

T O A LA 1 F 16 M

. What does Professor Black come here for?

A. To give a lecture. B. To go sightseeing.

C. To visit the company.

. Which of the following statements is NOT true?

A. Professor Black felt a little bit tired on her trip.
B. The man works in the Public Relation Department.

C. The lecture will last two hours.

. What will Professor Black do later that day?

A. Give a lecture.
B. Have a dinner with the staff of the company.
C. Enjoy a lecture with other staff of the company.

SO0 FUE A W R E 1T 22004

. Why do people hardly ever meet their pen-friends?

A. Because pen-friends use different languages.
B. Because pen-friends are not really friends at all.

C. Because pen-friends usually live a long way from each other.

. What kind of things do pen-friends usually write about?

A. Their favourite magazines. B. Their towns, schools and interests.

C. Stamps, coins and picture postcards.

. Which is the best place to find a pen-friend?

A. In English countries. B. On postcards. C. In magazines.

. What is John Smith interested in?

A. Collecting stamps. B. Geography. C. Dancing.

10
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1. What is the man doing?
A. Taking a photo. B. Developing a film, C. Repairing a camera.

I~

What is not suilable for the man?
A. A night flight. B. A plane to Paris. C. A plane ticket.
3. What did the doctor advice the man to do?
A. To take less wine. B. To give up smoking. €. Not to drink hard drinks,
4. What’s the most probably relationship between the two speakers?
A. Husband and wife. B. Service man and guest. C. Employer and employee.
- 5. What do we learn from this conversation?
A. The man is tuming on the television.
B. The man and the woman are having a telephone call.

C. The man and the woman are arguing.
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~ 6. Why does the man make the phone call?
A. To book some seats for the show. B. To get some information about the show.
C. To know on what day the show will be given.
7. How much will one pay for two tickets now?
A. 26 dollars. B. 30 dollars. C. 60 dollars.

- 8. How long will the show last?

A. About two hours. B. About three hours. C. About four hours.
TR T B, WER9 £ 11 4,
9. When does the conversation most probably take place?
A. In the evening. B. At noon. C. In the afternoon.
10. How far is the hotel from here?
A. It’ s a three-minute drive to the east. B. It’s three-minute walk to the west.

C. It’s a thirteen-minute drive to the east.
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11. What's the traditional family-style hotel like, according 1o the waitress?
A. T’ s an inexpensive hotel, and not far from here.
B. lis price is reasonable and it’ s very comfortable.
C. It"s a modern hotel.
WESEMH, AR 12 2144,
2. What is the woman doing when the man speaks to her?
A. She is listening to music. B. She is watching a {ilm. C. She is writing a letter.
13. How long will May stay in London?
A, A year. B. A month. C. Two years.
14. What will May do before she leaves for London?
A. She will read more English novels. B. She will attend a language class.
C. She will apply for a new program.
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15. What does the woman want to do in Hong Kong?
A. To start her further education. B. To practice her business English.
€. To start her business career.
16. How does the woman feel English in Hong Kong?
A. Very important when visiting and studying there.
B. Very important in international trade centers there.
C. Very important for her to live and work there.
17. What does the woman mean by saying” But | have to suffer from now on”?
A. She must put her heart into her study now.
B. She must consider more about her plan now.
C. She must pay more attention to her business now.
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18. For what purpose does an ideal student learn?
A. For the sake of high grades. B. For passing given examinations.
C. For the good of gaining knowledge.
19. Why are the grade-conscious students frustrated?
A. Because their leachers don’t grade every assignment of theirs.
B. Because they can spend only limited time with the professor.
C. Because they often get low grades in examinations.
20. What does a professor expect his students to do with their research assignments?
A. To complete them with the aid of their tutors.
B. To accomplish them mainly through their own efforts.

C. To finish them by reading all the reference books in the library.
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- 1. What time is it now?

%]

A. 8:50. B. 9:00. C. 9:10.
What did Frank do this morning?
A. He had a history lesson. B. He had a chemistry lesson,
C. He attended a meeting.
3. What do we know about the man?
A. He is making coffee, B. He has a pain in his hands.
C. He is busy painting.

- 4. What does the woman think of the new color TV set?

A. It’s too cheap. B. It’s still expensive to her. C. It”s reasonably priced.

- s, Why does David want to leave right away?

A. The time is so late.

B. David wants to take the children to see a film.

C. David has a lot of work to do.
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6. How long will the activities last in the Great Hall?
A. The whole morning. B. One hour. C. The whole day.

7. Who is going to give a talk on courses and their requirements?

A. The headmaster. B. The Student Advisor.
C. The Director of Studies.

= 8. How does the woman feel about the Chinese test?

A. She’s anxious about it. B. She’s excited about it.

C. She’s curious about it.

Q;T 3 §




